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Board of Secondary Education Rajasthan, Ajmer

Model Question Paper Exam — 2023

CLASS-10
SUBJECT - ENGLISH (02)

Time - 3 Hours 15 Minutes

1. Objective Marks Distribution -

Total Marks - 80

S. No. Objectives Marks Percentage
1. Knowledge 23 28.75
2. Understanding 20 25.00
3. Application 21 26.25
4. Skill 16 20.00
Total :- 80 100.00
2. Division of Sections -
SECTION |  TYPES OF QUESTIONS No. of MARKS TOTAL TOTAL TIME
QUESTIONS WEIGHTAGE | WEIGHTAGE OF
OF MARKS QUESTIONS
A MCQ & 15 18.75 30.00 35
VERY SHORT ANSWER 45
TYPE QUESTIONS 1 21 26.25 05.00
B SHORT ANSWER TYPE 20
QUESTIONS 5 10 12.50 25.00
c ESSAY TYPE QUESTIONS -1 2 8 10.00 10.00 30
D ESSAY TYPE QUESTIONS -2 3} 26 32.50 30.00 65
20 80 100.00 100.00 195
3. Mark Distribution of Content -
S. No. Content Marks Percentage
1. Section A - Unseen Pagsage | 6 7.50
2. (Reading) - Unseen Passage 2 9 11.25
3. Section B - Letter/E-mail 5 6.25
4, (Writing) - Story Writing 4 5.00
S. Short Paragraph verbal/visual 4 5.00
0. Section C - Tense 4 5.00
7. (Grammar) - Reported speech 2 2.50
8. - Conjunctions 3 3.75
9. - Relative Pronoun 2 2.50
10. - Voice 2 2.50
11, - Framing question & Que. Tag 2 2.50
12. | Section D (Text book) - First Flight Passage-1 6 7.50
First Flight Passage-2 6 7.50
13. Textual Questions 7 8.75
14, Poetry 8 10.00
15, Footprint without feet 10 12.50
Total :- 80 100.00%




Blue Print

CLASS - 10 SUBJECT - ENGLISH (02) MARKS - 80
S. | Objective Unit / Sub Unit Knowledge Understanding Application Skill Total
No. M | vsaQ | sAQ | ETQ MCQ vsaQ | saq | ETQ MEQ vsAQ [ saq | ETQ MCQ vsaQ [ saq [ ETQ
ETQ | ETQ ETQ1 | ETQ ETQ | ETQ ETQ1 | ETQ2
1 2 2 1 2
1. Section A - Unseen Passage | AL |20 2(-) 6(1)
2. | (Reading) - Unseen Passage 2 31y |20 4(-) %1
3. Section B - Letter/E-mail (1 (1
4. | (Writing) - Story Writing A H1)
5. Short Paragraph verbal/visual A0 41
6. | Section C - Tense A1) 4
7. | (Grammar) - Reported speech 20 2(1)
8. Conjunctions 3(1) EQ)
— 21
9, Relative Pronoun 20) (n
. 5T
10. Voice 51) (1)
11. | Framing question & Que. Tag 20 (N
12. | SectionD (Text book) -First Flight | 42) | 4(-) 4= 12(2)
Passage 1 Passage-2
13. | Textual Questions 20 3(1) 7(2)
82y
14. | Poetry . A0 (2
- . 103
15. | Footprint without feet 21y a01) 4 (3)
15(6) | 8(-) 106) |5 |83@ IONEC) 10(2) 16(4) | 80 (20)

Choice Scheme : Question 3,4,5,14,15,16,17,19,20 Internal Choice

Note : Marks should be written out of the bracket

Signature




BOARD OF SECONDARY EDUCATION, RAJASTHAN AJMER
MODEL PAPER -2023

CLASS-10
ENGLISH
Time :- 3 Hours 15 Min. Marks :- 80

GENERAL INSTRUCTION TO THE EXAMINEES:

1. Candidate must write first his/her Roll No. on the question paper
compulsory.

2. All the questions are compulsory.

. Write the answer to each question in the given answer book only.

. For questions having more than one part the answers to those parts
are to be written together in continuity.

5. Write the correct serial number of each question as mentioned in

the question paper.

= W

SECTION-A
Reading

1. Read the following passage and answer the questions that follow :

These days, it is not unusual to see people listening to music or using their electric
gadgets while crossing busy roads or travelling on public transports, regardless of the risks
involved. I have often wondered why they take such risks, is it because they want to exude a
sense of independence or is it that they want to tell the world to stop bothering them? Or is it
that they just want to show how cool they are? Whether it is a workman or an executive,
earphones have become an inseparable part of our lives, sometimes even leading to
tragicomic situations.

(i) What is not unusual to see these days? 1
(A) listening to music (B) using electronic gadgets

(C)BothA&B (D) None

(ii) People are regardless of risk involved. 1
(A) on busy roads (B) travelling on public transport

(C)BothA&B (D) None

(iii) Why do the people take risk? 1
(iv) What leads to tragicomic situations ? 1
(v) Write similar word of the following from the passage :- 1

‘Surprised’



(vi) Write opposite word of the following from the passage:- 1
‘Hot’
2. Read the following passage and answer the questions that follow:

Childhood is a time when there are few responsibilities to make life difficult. If a child has
good parents, he is fed, looked after and loved, whatever he may do. It is improbable that
he will ever again in his life be given so much without having to do anything in return. In
addition, life is always presenting new things to the child - things that have lost their interest
for older people because they are too well-known. A child finds pleasures in playing in the
rain, or in the snow. His first visit to the seaside is a marvellous adventure. But a child has
his pains : he is not so free to do as he wishes as he thinks older people are : he is
continually being told not to do things, or being punished for what he has done wrong. His
life is therefore not perfectly happy.

When the young man starts to earn his own living, he becomes free- from the discipline of
school and parents; but at the same time he is forced to accept responsibilities. He can no
longer expect others to pay for his food, his clothes, and his room, but has to work if he
wants to live comfortably. If he spends most of his time playing about in the way that he
used to as a child, he will go hungry. And if he breaks the laws of society as he used to break
the laws of his parents, he may go to prison. If, however, he works hard, keeps out of
troubles and has good health, he can have the great happiness of seeing himself make
steady progress in his job and of building up for himself his own position in society.

Old age has always been thought of as the worst age to be, but it is not necessary for the old
to be unhappy. With the old age should come wisdom and the ability to help others with
advice wisely.

(i) Marvellous adventure for a child will be : 1
(A) his first visit to zoo (B)his first visit to play school
(C) his first visit to seaside (D)his first visit to garden

(ii) When a young man starts to earn his own living, he becomes free from: 1
(A) discipline of school (B) parents
(C)BothA&B (D) none

(i) With .oceeeenes should come wisdom and the ability to help others with advice wisely. 1
(A) Youth age (B) old age
(C) childhood (D) Middle age

(iv) What happens if a child has good parents?
(v) Why a child is not perfectly happy? Write any one reason.
(vi) Which age has always been thought of as the worst age to be?
(vii) What will happen when a youth breaks the laws of society ?
(viii) Write similar word of the following from the passage:
‘ Amazing’
(ix) Write opposite word of the following from the passage: 1
“Insanity’

A el



SECTION B
[Writing ]

3. Imagine that you are the captain of your school volleyball team. You want to take part

into the district level tournament to be held in Maharana Pratap Secondary School, Beawar.

Write an application to the Principal of your school requesting him to allow you to take part

in the tournament. 5
or

You are Mona/Manish. Write an e-mail to the editor of a newspaper complaining about

insanitary condition in your locality.

4. Write a story with the help of given outlines in about 80 words. Give the title and moral to

it. 4
A good boy ................. falls in bad company........ccccuuveeee... disobeys............ father advises to
shun........cccceeees all in vain................. decides to teach a lesson........cc............ brings
appleS. . puts them in almirah......ccccoceeeeiiiin. notices one rotten
o] o] [T next day all apples rotten............ccvveeeeee. teaches a lesson.

OR
A thief caught.................. brought before the king................. the king orders him to
hang......... thief.....cccoeee.. clever............. SAYS rrrrreeiieeeeeeeeenens a secret.............. true with
golden fruit............... king interested........cccceeeennnnns thief prepares small pellets of
gold.....ccccuuvneees tells the king sown by one..... never stolen anything.
5. Write a paragraph of about 60 words using the visual aid provided: 4

CORONAVIRUS

VACCINATION

10mi

Fow D19
WACCINE

coviD-12
WACCINE

OR

Write a paragraph on "My Favourite Teacher' in about 60 words.



SECTION C

(GRAMMAR)
6. Choose the correct form of the verbs:
()1 I (go) to Jaipur yesterday.
(A) went (B) go
(C) have gone (D) had gone
(ii) He usually............... (take) breakfast at 8 a.m.
(A) takes (B) took
(C) has taken (D) will take
(iii) We e (study) in this school for three years.
(A) will study (B) have studied
(c) am studying (D) have studying
(iv) The train.....ceeveeeeeeeennn. (leave) before | reached.
(A) left (B) had left
(C) was leaving (D) had been leaving

7. Change the following sentences into Indirect Speech.
(i) Archi said to me, "l respect you".
(i) Sid said to me, " Do you learn English?"

8. Rewrite the following sentences using connectives given in the brackets:

(i) It is very cold. We can't go out. (too-to)
(ii) He sells mangoes. He sells oranges. (both-and)
(iii) She is very small. She cannot lift it. (so-that)

9. Join the following sentences using the relative
Pronoun, given in the brackets:
(i) The boy is going on the road (whose)
His father gave you this letter.
(ii) The boy was awarded. (who)
He was honest.

10. Change the following sentences into Passive-Voices,
(i) Prateek will write a letter.
(ii) Please open your book.

11. (i) Frame question of the following sentence:
| crossed the river by boat.

(ii) Add Question Tag to the statement given below.
Mohan will go to school............ccccce...... ?

[EEN



SECTION - D
(TEXT - Book)

12. Read the passage given below and answer that follow:

Marriage gifts are meaningless without the sweet bread known as the bol, just as a party or
a feast loses its charm without bread. Not enough can be said to show how important a
baker can be for a village. The lady of the house must prepare sandwiches on the occasion
of her daughter's engagement. Cakes and bolinhas are a must for Christmas as well as other
festivals. Thus, the presence of the baker's furnace in the village is absolutely essential.

The baker or bread-seller of those days had a peculiar dress known as the Kabai. It was a
single-piece long frock reaching down to the knees. In our childhood we saw bakers wearing
a shirt and trousers which were shorter than full length ones and longer than half pants.

(i) Sweet bread is known as: 1

(A) bol (B) pol

(c) dol (D) roll.

(1) I of the house must prepare sandwiches: 1

(A) Lady (B) Maid

(C) Daughter (D) Master

(iii)) What is must for Christmas? 1

(iv) What is Kabai? 1

(v) Find out the world from the passage which means :- 1
‘Presents’

(Vi) Find out the word from the passage which has opposite meaning of : 1
‘sour’

13. Read the following passage and answer the questions that follow:

"The moon was coming up in the east, behind me and stars were shining in the clear sky
above me. There wasn't a cloud in the sky above me. There was not a cloud in the sky. | was
happy to be alone high up above the sleeping countryside, flying my old Dakota aeroplane
over France back to England. | was dreaming of my holiday. and looking forward to being
with my family. | looked at my watch: one thirty in the morning.

'l should call Paris Control soon' | thought. As | looked down past the nose of the aeroplane.
| saw the lights of a big city in front of me. | switched on the radio and said, "Paris Control,
Dakota DS 088 here. Can you hear me? | am on my way to England Over".

(i) The moon was coming up in the.......ccccceveeiiiiieeeennnnes 1
(A) east (B) west

(c) south (D) north

(ii)The stars were shining in the............... 1
(A) sky (B) room

(C) school (D) house

(iii) Why was the writer happy? 1

(iv) What was the writer flying? 1



(v) Write the similar word of the following, from the passage:
‘rest’

(vi) Write the opposite word of the following, from the passage:
‘dull’

14. Answer any one of the following questions in about 80 words :
Why does the writer go to Basra? How long does he wait there and why ?

[Mijbil the Otter]

OR

Write the character sketch of Wanda. [The Hundred Dresses]

15. Answer any one of the following questions in about 20 words:
Write the character, which you like most in the play. [The Proposal]

OR

Can you imagine what can happen with Lomov in other way in the play after quarrel with

Natalya ? [The Proposal]

16. Explain any one of the following stanzas with reference to the context:
Some say the world will end in fire
Some sayinice
From what I've tasted of desire
| hold with those who favour fire.
(i) Write rhyme scheme and words.
(ii) According to the poem what the world will end in?
OR
Read the following extract and answer the questions that follow.
The way a crow
Shook down on me
The dust of snow
From a hemlock tree.
(i) Which tree is mentioned ?
(ii) Write rhyme scheme and words.

17. Answer any two of the following questions in about 20 words:
(i) What are the trees in the poem, 'The Tree'? [The Tree]

(ii) Write the identity of crocodiles? [How to Tell Wild Animals]
(iii) What does crow symbolise? [Dust of Snow]

18. Choose the correct answer:

() ISP is the writer of "A Question of Trust? [A question of trust]
(A) Victor Canning (B) H.G. Wells
(C) Robert W. Peterson (D) None

(ii) What is name of the dog in the lesson. 'A Triumph of Surgery'?

[A Triumph of Surgery]
(A) Tricki (B) Hello
(C) Tripi (D)Tommy

[2x2=4]



19. Answer any one of the following questions. in about 60 words: [1X4=4]
(i) “Griffin was rather a lawless person” explain.
[Footprints without Feet]
(ii) What is DNA fingerprinting & what are its uses?
[The Making Of A Scientist)
20. Answer any two out of three following questions in about 20 words. [2x2=4]
(i) What was the problem of Name. Loisel?
[The Necklace]
(ii) How is Ausable different from other secret agents?
[The Midnight Visitor]
(iii) How does Anil think about the thief ?
[The Thief's Story]



Y9 &I YISl

wT — 10
faw — fa=m (07)
A — 3 " 15 e quid — 80
1, Iga B JFIR —
& SECED) ABTR yfererd
1. | =M 33 4125 %
2. | JIGgRT 24 30.00 %
3 Aregtad 11 13.75 %
4, HifeTdhdr 12 15.00 %
IANT 80 100 %
2, gel & YPRAR IPAR —
. g2l FHT YBR geAl B | &F uid | wA 3B iereTe RUIICG!
4. =T UL DIGEIR! PESIEGA] g
1. | S 18 1 22.50 36.00 28
2. | arfcreTerRTcT® 12 1 15.00 24.00 23
3. | dHIRIHS 13 2 31.50 26.00 51
4. | S’y weA 04 3 15.00 08.00 41
5. | fFEeTHS 03 4 15.00 06.00 52
IANT 50 100 100.00 195
3. fova o T AFAR —
R fawy awg KGRI gfererd
1| R Afthar 9 wHeeoT 5 08.25
2 | 3% &TR& g <fduT 6 07.50
3 | o 9 s 4 05.00
4 | PEH T 596 AfTD 6 07.50
5 | dcdT BT 3Mad aifieT] 4 05.00
6 | oa upH 7 08.75
7 | Fr=oT 9 9Eea 6 07.50
8 | 9T o9 B B & | 6 07.50
9 | agaii¥mmar 9 Sig faeE 4 05.00
10 | YBT3 URTAdH g A9daH 7 08.75
11 | 99d 99 U@ 97 {99 99R 4 05.00
12 | faega 7 08.75
13 | T9gd gRT & FFeai goE 7 08.75
14 | ST & ST 4 05.00
15 | BRI TR 2 02.50
16 | UTebfcier WARIAT b1 avfiehoT 1 01.25




Y4 &g U

BHET — 10 favg —  fasr (07) qulics — 80
£ R PR/ I I G| JquE SR / aferfed e / Wferdr TRT
i
- L Ble |= Ble o
1| aEfaE sifafear 1(1) | 1{1) 3(1) 5(3)
AT
2 I+ &R g oIdul 1(1) | 1(1) 1(1) 3(-) 6(3)
3 &g T 3 2(1) 1) | 1(1) 4(3)
4 | ®EA T 39d AIRTE 2{1) 11) 1{1) | 2{1) 6(4)
5 | < BT ST ai N 1{1) | 1{1) 2{1) 4(3)
6 | oid UHA 2(1) (1) | 1{1) 1() 2(-) 7(3)
7 | =T g gHe 2(2) | 1(1) 3(1) 6(4)
g | Sia 599 B9 B B | 1(1) | 2(1) 1(1) 2(1) 6(4)
9 | AEIRERAT 9 Sig e 3(1) 11) 4{2)
10 | YT WRTGTE  39da 2{1) 11) 2(1) 2(-) 7(3)
11 | 79g 9 U T R[{IETT IR 1(1) 3(1) 4(2)
12 | faga 1(1) 2(1) 1) | 2(1) 1(1) 7(5)
13 | [RJd &RT & SR Yo 2(1) 1{1) 2(1) 1(1) 1(1) 7(5)
14 | ST & ST 2{1) 11) 1{1) 4(3)
15 | EART TR0 1(1) 1(1) 2(2)
16 | UIdhfcir HAARHT B BT | 1(1) 1(1)
7 4(4) | 14(7) | 6(2) 2(2) | 7(7) | 3(3) | 8(4) |6{(2) 2(2) | 3(3) 2(0) | 4() | 2(2) | 2(2) | 4(2) | 4(>) 80(50)

faedl &1 Ao — UE. 21, 22 9 23 § U IHdRs Adbed 2| Alc— SIS H 98y & G&T bl o aur 9ar 931 3 9ids 2 |
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fasm
SCIENCE
9T : 3:15 €U
qHenfefal & forr wm= fAder —

GENERAL INSTRAUCTIONS TO THE EXAMINEES

1. QT TRy U WS U WR AR S o |
Candidate must write frist his/ her Roll on the question paper compulsory.
2594 ge afard g

All the questions are compulsory.

3. URIE VT &T IR Al T8 IR YRRIHT § &l T |

Write the answer to each questicn in the given answer Book only.

4. R Uzl o ook woe € S W b SR U 9RI 8 fod |

For question having more than one part, the answers to those parts are to be written togeather in

continuity.

5 U U & 34l 7 3RSl wUR A 5T JhR &1 Ffe /3R / RREmE 87 W) 2T

WIS B Y BT Bl He! A |

If there is any error/difference/contradiction in Hindi & English versions of the guestion paper, the

guestion of Hindi versions should be treated valid.



«og 3
Section A
Igfabedl gi—

Multiple Choice & Question-

1. 919 § [ARA (Gws) fHd o &1 90 8?

(3r) aryor (@) S=aoH
(|) oA @) aReEaxoT
The Lungs in human beings are part of the system for
A_ Nutrition B. Excretions
C. Respiration D. Circulation

iy

2. % | ¥ N1 UGy SREM 87

() sgfer (@) ersTE

(¥) T (3) AT
Among the following which is plant Hormones-

A. Insulin B. Thyroxin

C. Estrogen D. Oxcin

3. B Y IS BT RGN BT 6 Ped &7

(@) dea (@) #vsa

(@) wrta (@) #edw
Which Scientist is called the" Father of Genetics"?

A. Bateson B. Mendel

C. Morgan D. Mendeleev

4 T 3 ¥ e aRE @ SUAET WieT AW H BT 87
@ ey MRS (@) OifeTH AR
@) M TORES (@) dfp \re

Which chemical used in photography

A. Silver Bromide B. Sodium chloride
C. Amonium chloride D. Baking Soda

5. WNSY A% IR T IS 33 e
(e1) CaSo, 2H,0 (@) Caso, ¥z H,0

(:H) Na, CC; 10 H;0O (_Q’) Na,CO;
Which is the Chemical formula of "plaster of Paris"?

A, CaSo, 2H;0 B. Caso, ¥z H,O
C. Na;CO;10H;0 D. Na;CO;

6. = ¥ ¥ I W B
@) 0, @) H,

(&) He (€ Co,



Example of Noble Gas

A0, B. H;
C. He D. Co;

7. fra ypreia geT @ FRYT Ul # W ve g e 87
{31) WmETH @) gPHIvE
(=) femgor (@) ameH

Why apparent displacement of a pencil Partly immersed in water
A. Reflection B. scattering
C. Dispersion D. Refraction

8. WY T @ T W WR awq @ Al aar g

(31) 3ficued W (@) 3fcuea & |
@) sfeuea @ 9o (@) »ig Mg 7
In which part of nermal @ Human Eye areal Image form —
A. At Retina B. In front of Retina
C. Behind the Retina D. Nene of Above
9. faxga =ity @1 S| 7@ 3
(@) o @) e
() vfrrR () dreT
S| unit of Electric Power
A Joule B. Watt
C. Ampere D. Valt
10. = § & B Tl wamE g -
@n GR FHoll (@) BRI
GRHE (@) wpfos e
Which in renewable sources of Energy?
A. solar Energy B. coal
C. Petrol D. Natural gas
11. 1 § 9 3 eeR sgen =1 fufv w8 E7
(an) =, T, T AW (@) =T, FTF T TS
(W) =R, T an gt (3) o, HE! U1 SR
Which of the following constitute a food-chain?
A. Grass, wheat and mango B. Grass, goat and human
C. Goat, cow and elephant D. Grass, fish and goat

12. Togdh =ta <1 2-
@) 7 T R (@) a1 €t 9

() | = W (3) = T W



Tehri dam is built on-
A. river Ganga B. river Narmada

C. river Son D. river Chambal

Q2 R 19 & gfd a1 —
Full fill the blank spaces -

1. FE-E THA FHGHR GTF o FEAW € |

Compeunds containing carbon-carbon single bond are called ...l .

2. WA & Tl BIeT # gorag ™ B SIETH AT T BT BT GT ceveeeeesesrsnaaens 5|
Maximum Number of electren found in a shell of atom depend on the formulais .........ccoeenes
3. &I AFA@T DIRTET & T el I BT v, PEd B |
The Gap between Two neuransis called ...
4 ATB D T forar|
6C0O; + 12H,0 A Cs Hi20p + 60,
B

Write Name of A & B in this equaction.

6C0O; + 12H,0 A Cs H1206 + 60,
B
5. + _
EENESTREE I e 152 i A Hgud & U vy € ¢
+ p—
This symbol used ----—---—--- components in above diagram.
6. eI SIS WD o1 Bl oo Hatl # 9l T

Jferery He=
Very short answer type

a3
1. SEq Al & o719 9 9o 7

What do you mean by a precipitation reaction?



> IeH fadas & PH &7 |19 foren |

Write the value of PH of Neutral solution,

a. Ty yrg o <1 SqEY fol |

Write two examples of Alloy.

2. V2N B FolggM fowg Ava 99180 |

Draw a electron dot structure of Methane

5. Al &1 3ad AR B PIs Th HHT ey |

Give one limitation of Midlives of Periodic Table.

6. TR BT AT ANKISD BT DIAAT AN BT §7

Which part of Brain maintain balancing of Body.

7. R ¥ U0 O 9T ofiieh ERAEE &1 T Tafea |

Write one Human Male Sex Hormonae,

s I ofRuer # diecHdier &1 B =Y |

Write the uses of voltmeter in Electric Circuit.

0. BS R & IRl IR RO SERERT B =&F a9Rl |
Draw a Magnetic field line around a Bar Magnet.

10. SITATEH 29 & T SNyl oIl |
Write two examples of fossil fuel.

1. 3N IR BT G o4 o |

Give an Advantage of ozone Layer.

12. T & arewl A H of[er fhaa a9 o1 S2iar 2|

In Flaming left hand rule, thumb indicate which direction.

©ug B
Section B

4. TIE 1 57 W g9 % o <) alE wasy |
State two ways to prevent the rusting of iron.

5. Bl P 3 JRGAT & A forar |

Write any Two Allotropes of Carbon-

F

6. TAES &I I BT A 9180 |




Draw a labelled diagram of formation of Micellas,

7. amae AR 7 9 A TV GM WR wRA] B @i wvedl 27
The Atomic Radius decrease in moving from left to Right in periodic table. why ?

8. ST ¥ UV ST dlel 37%c] T =19 g BRI foIieu |

Write the name and function of Acid which secretes from Human Stomach.

9. =T o hed g' q SHDI BT 1A |

Define Placenta ? What is the Role of placenta

10. T Bl I HIE H o R0 |
Draw a Labelled diagram of the longitudinal Section of a to flower.

11. ol & &9 HT T 3R AHE fore |

Write the formula and unit of Power of Lens.

12. & ai® F1 AfRY -7 $ReT W R Far 81 (@E 1)

Write any Two factor an which Resistance of a Canductor depend.

Py

13. Taeld uiRuer qem |ifRIl W HHMIT: SUANT B dlel &1 HR&T IU/
Name Two Safety measures commonly used in eclectic Circuit and appliances

14. FHDHIY & Bl {32 G IR BT S0 B S Fm [ |
Write the Left hand Thumb full to find direction of Magnetic field.

15. {0 U faega ufRger & wftomd wfaly foram 22

=

What will be the resultant resistance in the given electric circuit?

=

16. Soll & AdIHoly UId 3R sFdieei g & yRam ferfRau |

Define the Renewable source and Non Renewable sources of Energy.

fo

LG

N



T vs g
Section C
e SRR wI—

Long Answer Type Question -
17. JHIGH ATEl YSRI B fOPHavfeeT 9 Fa &1 Uh U foral |

Cuo+H, —» cu+H,0 § fbe qerel o1 sr=aq 3R fhadr Sy=a= gar &7

What is done to prevent rancidity in Food Containing Fats.

CuO + H; - Cu + H.0in above reaction which substance being oxidised and which substance reduced. [1+2=3]

18. A | AR U ¥ frehoty diel 8RAE B 99 el H1 foral | S5 H41 ¥ 84

qrel 0T BT A4 forfRay |

Write the name and function of hormene secreted by Pancreas Gland-.Write the name of disease due

to its deficiency- [1+1+1=3]

19. 919 H fofiT fRIROT BT THEMRN 3R SHGT 3INT fad 1 971 |

Explain Sex determination in human and Draw a Ray diagram. [2+1=3]

Y g QY & AR & oy ST o B T 2

20.(a

(b) GETey der WA & 99 P &1 [T T Al Qe 2 |
(a) which Lens used to remove far sightedness defect of vision.

b) why the Sun appear Reddish at the time of Sunrise and sunset. [1+2=3]

Wis

Section D

21. 2. fOR® ot &1 RS 93 9 PF TS SN ford |

b. T AT HI IS g3 d DIS U IUART fora |

c. 3T I IR § P1S &I r fordl |

a. Write Chemical formula of Bleaching Powder. Give One uses of Bleaching powder.

b. Give chemical formula and One uses of Baking Soda

[2+1+1=4]

c. Give two differences between Acid & Base.

HAGTOR




A. Gl (i) erRf e

B. At (i) TepTiE® oTe
C. 2 T TF (iii) fafe= o
D. e (iv) Hemfe® a1/

(b) &TeM HIST 1 THEHF A & 5 I9AN forat |

{a) Match the following-

i) Tartaric Acid

|i) Ascorbic Acid

A. Orange (
B. Amla (
C. Nettle Sting (iii) Citric Acid
D. Tamarind (iv) Methanoic Acid

{b) Write chemical formula of washing soda and gives its two uses.

[

22 a. A9 ¥ oo P BEd B | 999 ST dF BT AMifehd IS F98T |

N

b. AT # RS (STAferRa) fohaT & FHEEy |

a. Define Execration in human . Draw a labelled diagramed of Human Excretory system in Human
b. Explain Dialysis Mechanism in human

HAGTOR

i. 99 T 9IS BT O R wed §° °Tg U OF BT A I 99 |

i. 9T B T oIR BT Uh B gamel |

i. Write the meaning of digestion in Human. Draw a labeled diagram of Human digestive system.

ii. write the Role of saliva in digestion of food.

23.(a) STETA TAU1 GRI Hidteres w1 fRAoT ST s 1eit S =g wiFa F R feera 21
(b) aRfersh o1 ST wfdfsrer # g1 a1 fafgu |

{(a) Draw a ray diagram for a concave mirror, if the object is placed at focus.
(b} Write two differences between real image and virtual image

3TLAr

~

(a) ST T R o9 el Wfafers =1 fper fom smeql w@fer fom =t feafa fema! el |

(b) 399 § &iH F 1 3R fefaEn |

[1+2+1=4]

2+1+1=4



(a) Draw a ray diagram for a convex lens when the object is placed at infinity.

{b) Write two differences between mirror and lens.
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A — 3 " 15 e quid — 80
1, Igaed B PR —
P, gAY IR gicrerd
1. | =M 28 35%
2 | oTadRT 32 40%
3| rfereafad 16 20%
4, HifeTdhdr 04 5%
IANT 80 100%
2. UTHl & YHRAR AFIR —
. Ul Bl bR U BT | d UiT | Rl A gfcrerd NEICE
4. =T UL DIGEIR! PESIEGA] g
1. a—gjﬁﬂg 12 1 15 24 16
9 Sﬁ?ﬁ%ﬂ—ﬂ?ﬂ—cﬁ 1246 1 22.50 36 23
3. | TERRIH® 13 2 32.50 26 33
4. | S’y weA 4 3 15 8 45
5. | MeeTcA® 3 4 15 6 76
INT 50 100 100 195

3 fova o T AFAR —

HH fawy awg PR | ke
1. | IR H IEIIE BT I 5
2. | vRd H e 6
3. | AvSHIgRd 93 &1 a7 3
4. | SIENNIBIOT BT A 4
5. | HavT Ewpi AR S g 2
6. | UOEN 3R faer™ 3
7. | 99 oIR g Sia OORE 2
8. | el H9EH 3
9. | & 3
10. | WS 3R ol R 4
11. | fafemior sem 2
12, | AT MefaRerT B S el 3
13. | AT B TEER] 2
14. | GIEE 4
15. | b= AN fafderar 2
16. | 9Ifd, oF 3R <ifire 99 4
17. | SH—TGY 2R 2TqrT 2
18. | ISTNTT & 2
19. | AIBdd & 9RumA 2
20. | Abdd & IR 2
21. | faem 4
22. | MR Sefarase & &b 4
23. | HgT 3lR 9@ 4
24, | JTITHROT 3R MR ieqase 4
25, | SUAIET EER 4




U -1 & U=

BT —10th fayy — wmErsTe fasm (08) —80
T4 W PR /I B | Jaar I / fetad Pre / Aiforar TN
¢ € |z ERE Ble |2 g
1. | IR H qSAR BT I3 2(1) | 3(1) 5(2)
2. | TRT # wgare 2(2) 4(1) 6(3)
3. | HvSdiRd faga &1 g+ 1(1) TOREID 3(3)
4. | SRR &7 Za 1(1) 2(1) 1(1) 4(3)
5. | Heor "Epia ofR e g | 11) | 1) 2(2)
6. | T9rM R faw™ 3(1) 3(1)
7. | 99 3R 9= ST GarE 2(1) 2(1)
8. | Slel GEEH 2(1) 1(1) 3(2)
9. | oM 2(1) 1(1) 3(2)
10 | @i 3R Soll S9N 4(1) | 4(1)
11 | fafemior s 2(2) 2(2)
12 | IR SRl d ofied A 1(1) 2(1) 3(2)
13 | T @I AEER] 2(1) 2(1)
14 | IIATE 4(1) A1)
15 | A SR fafdear 2(1 2(1)

famedl &Y AT — U4, 21—23 § Us i Apaa B

Alc— HISP § 98T B GE&T AHhl B I Hia¥ YAl B s & |
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> E E T E E T E E z E E E
¢ € |z ERE Ble |2 g
16. | SIfdl, &¥ 3R R Al 1(1) 3(1) 4(2)
17. | SH-99Y 3R sMar 2(1) 2(1)
18 | YToiIfel & 2(2) 2(2)
19 | dlidaa & gRumd 1(1) 1(1) 2(2)
20 | ofddd & A 1{1) (1) 2(2)
21 | [d®™ 1(1) 2(1) 1(1) 4(3)
22 | IR sreforaRy & esld 1(1) (D | 2(D) 4(3)
23 | Y&T 3R 91 2(2) 2(1) 4(3)
24 | JAIBROT IR AR feferawel 1(1) 3(1) 4(2)
25 | SUHEA! JAEER ) 1(1) 2(1) 4(3)
Bt 4(4) | 8(4) | 3(1) 2(2) | 5(5) | 16(8) 8(2) | 2(2) | 33) [2(D) [ 93) - |- - [ 4(1) | 80(50)
14(14)
wd I 20(23) 31(17) 16(9) 4(1)

famedi @1 AT — U 21 9 23 § 3aRe fawed 2

Alc— SIS H 98y & G&T bl o aur 9ar 931 3 9ids 2 |




Aregffies TN SECONDARY EXAMINATION, 2022-23

TSI fagi= SOCIAL SCIENCE
v we—o08

|Ag— 3 der 15 e qurie— 80

whenifal & fov Gy fader—

GENERAL INSTRUCTIONS TO THE EXAMINEES

1.

Rl Fauem U WeH U UR ARG e fored |

Candidate must write frist his/ her Roll No. on the question paper compulsory.
W UeT B hxd AR € |

All the questions are compulsory.

YRS TET BT SR 4T T8 STRYRTHT H 81 fored |

Write the answer to each question in the given answer Book only.

5 ueHl & sraRe @ve g, 99 91 & U39 & SIR Us 9 27 for |

For question having more than one part, the answers to those parts are to be written

togetherin continuity.
TR A B BT 9 UG ®URRY H FH UPR & i /3R /REMN 86 W=
A9 & YA BT LT A |

If there is any error/difference/contradiction in Hindi & English versions of the question

paper, the question of Hindi versions should be treated valid.
yee BT IR TTEH ¥ gd U BT HHiD vy fore |

Before writing the answer to the question, you must write the serial number of the
question.
UIT W 23 TERA SR W G g 3R 4 36 BT 2|

Question No. 23 is related to map work and carries 4 marks.

UeT 9 21 ¥ 23 9 ¥ 3rdaRe APed £

Question No. 21 to 23 have internal choice.



Eus—3
Section - A

TEfrwed ye —

Multiple Choice Questions -

g1, e Ul & STR &1 AR Aol I R STRYRAET ¥ ARy |

Write the answer to the following questions in the answer book.

(i) 7Tl SRIGT A=t &9 gatn, —

(31) 5 SIFaRT 1930 @) 5 AT 1931

(H) 15 ST 1931 (@) 5 W 1930
When was Gandhi Trwin pact finalised ?

(a) 5 January, 1930 (b) 5 march, 1931
(¢) 15 January, 1930 (d) ) 5 march, 1930

() B8 ¥R qE & ATH B o—
(31) STATEReTe 8% @) AT "l

(|) HSAT TR @) T 148

Who wrote the book ‘Hind Swara)’ ?

(a) Jawaharlal Nehru (b) Nelson Mandela

(¢) Mahatma Gandhi (d) Bhagat Singh
(in) feregemdy smids HaT BT EIAT B —

(31) 1919 @) 1929

(4) 1935 (@) 1933

The great depression began around -
(@) 1919 (b) 1929
(c) 1935 (d) 1933

(Iv) YR BT U=l g Ud S¥ATT HIA Pl et gam?

(1) g% @) SRIEYR



(W) seaTETE (@) BRI

Where was India’s first iron and steel plant set up -
(a) Mumbai (b) Jamshedpur

(¢c) Ahmedabad (d) Bokaro

(v) 9T TTSTe Uit w1 arred e fhar?

(a1) T+ efiew (@) s JmTRed fEadt

() ST I HEBH I () TIER YIee™r™
Who edited the Bangal Gazette newspaper ?
(a) Warren Hestings (b) James Augustus Hickey

(c¢) Raja Ram Mohan Roy  (d) Gangadhar Bhattacharya

(V1) YIRT ¥ PRI Sl waRer 27

(1) sgaer @) T i

(|) TEEE () <1 <<l

Which party system is there in India ?

(a) Multy party (b) One party

(c) Alliance (d) Two Party
(vi) IEISTE forTror ST ierd: emeniRa rr 8-

(&) g ™ CHENIEN

(E) URaR W) (@) o W

Mostly social divisions are based on -

(a) Death (b) Dynasty

(¢) Family {(d) Birth

vm) Fgfve ot 31 LT &

(@) EmIRTS STEAT]

(@) orir [ER JUART & WR SIS | IR YHIUHR a0 IS 8 |

SIS IRERS BRG] (T) Toa~ &1 THH

Characteristic of the communist party 1s —

()



(a) Social inequality

(b) Accepts economic reforms but maintains a monopeoly or pelitical power

(c) Economic inequality (d) Support to monarchy
(X) STIEET TYOT BT A BIROT & 1
(37) RIS (@) srfewn
(&) iy (@) ¥ & PR T ()
The root cause of consumer exploitation is -
(a) Unemployment (b) Tlliteracy
(c) Poverty (d) None of these
0 miioT g1 A Pl BT sEzIear g AT BRI 8 — 1
(a7) amaT (@) wae SERll & Iy
() fager a=n & g (®) mRaR® sma & forg ()
What 1s the main reason for the need of credit m rural areas -
(a) Accommodation (b) For crop industries
(c) For foreign tour (d) For family income
(xi) wegfafm wreE sEm e 9 § RS w0 o F S § W i §2 1
ORI (@) = TR
(W) =g et (2) stz ()

Which of the following is used by the aluminum smelting industry as a raw material?

(a) Sugarcane {b) Limestone
(c¢) Tron Ore (d) Bauxite
(an) =1 o | i faf= S % de T TR ST A T R SR UsheT § 7 1
(&1) Frsfrapor (@) T
() Sgeftentol (T) SR ()

Which of the following is a process of mutual relations and rapid integration between
different countries?
(a) Privatisation (b) Nationalisation

(c) Globalization (d) Liberalization



y2 Raq sl #1 gfd diferg —
Fill in the blanks -
(i) e Fafastt g e T3 o F AR T F TRE 9 T 9 1
The advertisements made by Indian manufacturers became the vehicle of the
nationalist message of .....ccvivviciiinn

() w=a & Qe &1 w9 9= Al e M W WH ST 2| 1
Labourer sent from India to foreign countries were known as ..............

() ‘= BT TSI | B ST T8 fRar ST Tl U IS o 9 T | 1
Religion can never be separated from politics ................. said these words.

(V) STRAT TR BT oo 3T AT BFT ST B 1
The average income 1s also called ... .......... income.

(V) TRT H BRI ([1E) oo SR el 2 | 1
~.............188ues currency notes in India.

(vI) TRT H Tfoqad R IS SURET feas A9 ST 8 1

National Consumer Day is celebrated every yearmIndiaon ..............

¥. 3. AALRIF Ul & IR U 3 a1 U@ Ule 3 FIoR—
Very Short Answer Type Questions — (Write the answers of the questions in one word
orin one line)

(i) 1880 % SwmR T 3= WG =k TR I 14 330 % 9K § foraw arell Tenm #1 3 Afgensii
= ot 1

Name two women of Maharashtra who wrote about the miserable lives of upper-
caste women in 1880s.

(i) “ver fasg g ugen IEId SNENfid g ol BIs Udh BRI [¢Ifu | 1
“The first world war was the first modern industrial war.” State any one reason.

(i) anfs — <EFEoT ¥ 3y w7 |Hs 87 1
What do you mean by proto-industialisation ?

(iv) g @1 T ST &7 1
What 1s the use of jute ?

(v) SNMU® FTAR d1€ B HT Tk SUR g0 | 1
According to you, state are measure to prevent floods.

(vi) =R e $sd 87 1
What 1s trade ?

(vii) &= < R B 7 1
What are regional parties ?

(viii) TPdd D BTs &l d™ T2V | 1

State any two advantages of democracy.

(iX) Ao DI QT gAldl AR | 1



State two challenges to democracy.

) wHa =Rel Soa” [FH HEd 87 1
What is gross demostic product ?

(xi) T &9 | 39 RAT I 27 1
What do you understand by tertiary sector ?

(xii) o= fowm foae fraer g wfoie =t et &7 1
Who publishes the Human Development Report ?

Qve—q
Section-B

RIS YT — U 9. 04 U 16 & I oy (e BT 50 ¥1)
Short Answer Type Questions — Write the answer from Q.4 to Q.16 { Word limit : 50 Words)

Y4, THFER T8 ? 2
What is romanticism ?
W5 dcd god qasil 1 8 7 2
What is the Bretton Woods agreement ?
U6 U SRl F1 BRI 87 BI5 IT SN0 Alfoly | 2
What are vulnerable species ? Write any two examples.
W7 dgoceia uRIHRI @ I A 99y | 2
State two advantages of multipurpose project.
U8 <& 3R =% Bad B9 wed &7 2
What 1s Rabi and Kharif ¢crops ?
U9 WY T AR IOR A 3iaR W P | 2
Explain the difference between local and international trade.
W10 bad ¥ I B ARIERT T SaeId § 7 2
Why 1s there a need of power sharing in democracy ?
HA1 68 IPR AHISE =Rl ¥ dlddad gag gl s 2 2
How does democracy strengthened with social differences ?
W.12. A WY 3R & H AR AR | 2
Explain the difference between pressure group and movement.
u13 e T w1 87 ufe wfts s iR st 3 &1 afRemen forar | 2
What 1s economic development ? Write the definition of per capita income and national
income ?
W44 Gl RISTR 3R 929+ RIS H 398 SIfa | 2

Distinguish between open unemployment and disguised unemployment.

WA5 ST AALIGARI & GIEY WU BT AEIIDBAT DI FHIG $R ol 5 1°
R BT | 2

“Money solve the problem of double coincidence of wants.” Explain,



W46 SUHE AT TRl T YEYE S H HHA © 7 2

By what means can the consumers express their solidarity ?
Hus—YH
Section-C

& IO Ue- Ue 17 ¥ 20 & S} feiflag | (T W41 100 ¥R)
Long Answer Type Questions — Write the answer from Q.17 to Q.20 ( Word limit : 100 Words)

Y17 SSROEI Irgde @ fagman ke | 3
Write the features of liberal nationalism,
W8 RN HUT o 9t § Aeeayol AET R 217 PIg M d@ 9a18y | 3

Resources play an important role in any development . Give any three arguments.
W49 WRA H GG H A R SR @ 3| ASHI 6| I Y 39 $AT | F59d 87

BIg A TP S| 3
There 18 caste in ‘politics” and ‘politics 1n caste” in India. Do you agree with this statement.
Give any three arguments.

¥20 UTIHIOT N I T WAST ©° S §Hg g9 A0l RSP a1y | 3
What do vou understand by globalization ? State the factors that make this possible.

Hrls—q
Section-D

Freraere wea— U 21 9 22 & S<R Ty (T 9 250 ¥)
Essay Type Questions — Write the answer from Q.21 to Q.23 { Word limit : 250 Words)
¥. 21 Tafg= werifas a1 gus Faifae % 9ee o =i s gu 97

Y41

IEN1 W TThY ITEINT Jeia fod UaR os5d § 9 Bt 77 ? 4

Why did political leaders differ sharply over the question of separate electorates ?
OR

How did the non-cooperation movement spread from the cities to the countryside?

W22 WHAE 91 8 7 THD I ORI BT TR |

14T
WHR T Aael] & [ WR BH—6F ¥ 27 596 To9 & Uishar 90150 4

What is federalism ? Explain its main features.




OR
What are the different levels of local government system ? Explain the process of its
formation.

[nY

¥ 23 ¥ & IR foF T gEfa H SIS |

fo T IR & Y& qEaE § fAEfafiag w1 sifea e

(31) a<rew (&) madwreT
() gt () TR
31=&qT
(31) =R (@) SRR
(@) 9018 (%) 97 xe 4

Answer the question in the given map —

Mark the following in the given outline map of India.

(a) Vadodara (b) Rawatbhata

(c) Tutikorin (d) Gandhinagar
OR

(a) Beawar (b) Amarkantak

(c) Sundargarh (d) Tumkuru



Y9 &I YISl

wT — 10
foyy — o o9
A — 3 " 15 e quid — 80
1, Iga B JFIR —
& SECED) ABTR yfererd
1. | =M 20 25.00
2. | JIGgRT 16 20.00
3 Aregtad 24 30.00
4 HifTHdT 20 25.00
IANT 80 100 %
2. Ul & YPRAR APHR —
. g2l FHT YBR geAl B | &F uid | wA 3B iereTe RUIICG!
9. AT e fereTd qedl &1 ERLap)]
ESES 18 [ 22,50 36.00 45
2 aﬁa&;ﬁ?ﬁ?ﬁ 12 1 15.00 24.00 35
3. | dHIRIHS 13 2 32.50 26.00 45
4. | ST ¥ 04 3 15.00 08.00 35
5. | FFEeTHS 03 4 15.00 06.00 35
IANT 50 100 100 195

3 fova o T AFAR —

Bk [EAREERS! JFAR | wferd
1 | grEfaw Sy 4 05.00
2 | @gus 3 03.75
3 | Q1 =R arel e GHERe OH 6 07.50
4 | fgoma e 4 05.00
5 | U= SeiaT 5 06.25
6 | T 4 05.00
7 | Foeenie st 6 07.50
8 | Repoiiia &1 U=y 8 10.00
9 | HEIAT @ $B WA 4 05.00
10 |9 5 06.25
11 | TS 6 07.50
12 | g7 9§ GIERT e 4 05.00
13 | TSI &bl iR 3madd 6 07.50
14 | FiRk=rst 11 13.75
15 | wifdrepar 4 05.00




®El — 10 fawg .—  wford o9 quifes — 80
£ 9% OIS/ BY 5P EiE| 3N SN / Aferfdd Perer / feran T
¥,
L Ble |= tle L
1 | IR<fdd = 1(1) 2(1) 1(1) 4(4)
2 | d9gu= 1(1) 2(1) 3(2)
3 | &l =R dll IFH AHIER00 41 [ 1D [ 1D 6(3)
™
4 | fgemd SHIEoT 2(1) (1) | 1(D) 4(3)
5 | AN HEiT 3(1) 1(1) | 1{1) 5(3)
6 | 1(1) | 1(1) |201) 4(3)
7 | Féena Sl 1(1) 2(1) | 3(1) 6(3)
g | oAl & uRey 1(2) A1) | 1(2) 8(5)
9 | PpITARY & $HB STUART 1(1) 1(1) |2(1) 4(3)
10 | g 1(1) | 1(1) 3(1) 5(3)
11 | I (1) (1) |2(2) 6(4)
12 | 9ol 9 HERdT asma 2(1) 1(1) 1(1) 4(3)
13 | USRI &TEhd 3R 3 1(2) 2(2) 6(3)
14 | FiRk=dm! 1(2) 2(1) | 3(1) A1) | 11(5)
15 | wifdepar 2(1) 1(1) (D) 4(3)
5(5) |2(2) |e(3) [3(1) |4 [4@) [3(3) |63 |31 5(5) | 4(4) |8(4) | 3(1) | 4(1) | 4(4) [3(3) |6(3) | 3(1) |4(1) | 80(50)

famedi &1 Ao — UE. 21, 22, 23 ¥ U IHidRs RAdbed 2| Alc— SIS H 98y & G&T bl o aur 9ar 931 3 9ids 2 |
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ey & fov amm= fAder

Genral Instruction to the Examinees :

L

II.

II1.

IV.

Rt HaUeF 39 YIS U= MG T-aRa: forwd |
Candidate must write first his’her Roll No. on the question paper compulsorily.

O geq B e €1

All the questions are compulsory.

UIPh U @Bl SR 4l T8 SIRYRIdT H & fored |

Write the answer to each question in the given answer book only.

O wedt # oiaRe w@vs 3, 91 8l @ SR U 9T 8l fored |
For questions having more than one part the answers to those parts are to be

written together in continuity.
ved U5 & Bl 9 3RSl ®urR | {6 yhR @ Ffe /sfae / fRrmArd sH
o =l W & T BT e T8l A |

Itthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question ot Hindi version should be treated valid.




Lre—H
SECTION- A

(i) 12 3R 15 &1 AFY 3R A[Y FIT BATT 7

(31) 60 3R 3 (@) 24 3R &

() 12 3fR 30 (®) g9 ¥ P15 oI 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of these

(i) 9895 H 3x%1ax—2 DI B GEA BN ?

(37) 1 @) 2

(9 0 () 379 9 @18 8l 1
Numbers of zeroes in polynomial 3x> + 4x —2 187

(a) 1 (b) 2

(c) 0 (d) None of these

(iii) Y fog & Mcena 8 8 ?

@) (1,2) @ (1, 1)

&) LD (=) (0,0) 1
The Coordinates of origin are ?

(a) (1,2) (b)(1, 1)

(c) (-1, 1) (d) (0,0)

(iv) I 2x+y =06 Bl d SUDI FT I I A 8 2

@) (1,2) ® 21

() (2,2) & (1, 1) 1
Which pair is satisfy the lines equation 2x +y =6 7

(a) (1,2) (b)y(2, 1)

(c) (2,2) (d) (1, 1)

(v) FHERT 452 4 hx+c=0 . az0 & Yo IRAAD el B Il
@) b>—4ac<0 @ b>—4ac>0

&) b>—4ac=0 (@) 39 9 P18 &l 1

2




In which condition the roots are not real in Quadratic equation

ax’ +bx+e¢=0,a=0

(a) b*—4ac<0 (b} b° —4ac >0

(¢) b>—4ac=0 (d) None ofthese

(vi) U THIR $IG1 3, 7, 11, 15 .o, @ TOIU FTARTR BATT 7
) 1 @) 2

(9) 3 (c) 4

The common difference forand AP. 3,7, 11, 15............ will be

(a) 1 (b)2

(c) 3 (d) 4

(vii) 2sin45° cos45° HT AF BATT 7
]

(37 7 @) 2

(4) ®) o

The value of 25sin 45" cos45” willbe ?

® 5 (b)2

(c) 1 (d) 0

(vii) U% g @7 fraei wuel Y@ &1 ¥ 7 2
@) TP (@) 3=

SIS (&) <IrT &I

How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) 9T BT &G S B B Gl 8 ?

@) 2mr @ o

@) (@) ¥ 9 P T




Which one of the formula to find area of circle ?

nr’
(a) 2mr (b) 130
(¢) 7 (d) None ofthese

(x) IS TH doA9 B HAE 11 FH AT IHBT Ib YOI &9hd 968 T
& T 9o @l rr srlr ?

(31) 10 T @) 11 I

(@) 12 T () 14 IFT 1

If a height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10 cm (b) 11 cm

(c) 12cm (d) 14 cm

(xi) 971 7,4,5,3,4,3,4, 1, 2 %I Sigeleh 8I—

&) 7 @) 4

(4 3 () 2 1
Mode of the distribution 7,4, 5,3,4,3, 4,1, 21—

(a) 7 (b) 4

() 3 (d)2

(xii) T® URT BT U gR bHl Sl & | 959 T BT U B DI
Rdar 3—

G 5 @ =

(&) 0 () 1 1

A die is thrown once, then the probability of getting a prime number is—

@ 5 Ok
2 3
{c) O (d) 1
(i) 3425 TF o, T E? (O™ 7 37OR) 1
3425088 number ? (Rational / Irrational)




(i) O I oo B E 7 (FARRH /T 1

Allcirclesare ............... {Congruent / Similar)

(iii) tan30° tan60° BT AM ... BFT ? 1
Value of tan 30 tan 60" is........... ?

(iv) I &I wet @ ol B & " . BT BT Al & 7 (R
BT/ 3w BT/ HHDI) 1
Angle between a tangent and a radies of circle1s............... (Acute angle/
Obtuse angle /Right angle )

(v) T AfBSl BT AR o6 B BT A = g7 1

Formule of finding mean of a grouped datais  —

(vi) TRl ST = % B9 1 s ... BT E 1

The probability of an impossible eventis................ .

(i) 3T =R A THIH FIETT R FSA ATGE T Rl I fAfE | 1
Find the condition of unique selution for pair of linear equation in two variables.
(i) 2 FBRU 45% L hx+c= 0 B A D0 S &7 S eRER I
[SIECIG 1
Write the Shree Dharacharya tormula to find roots of quadratic equation

ax" +bx +¢=0-

(ifi) TR $IdT 2,6, 8, 11 .. @ 12 TSI BT ART A BRI 2 1

Find the sumofAP.2,5,8, 11 ........... to (12" term)

(iv) ST 9T Sl @7 qomeil &7 S UTd 4 9 8 I 891 |F! el @
ERHE! BT U S BTy | 1




If ratio of sides of two similar triangles is 4 : 9, the find the ratic of areas of

these two triangles.

sec 40" sec 50"

cosec50”  cosecd0

v) T T JF 1 BIfSTY 2 1

sec 40" sec 50"

cosec50” cosecd(” -

Find the value of

(vi) 9sec’0—9tan>0 W HM T &I 7 1

Find the value of 9sec®*0—-9tan®0

(vii) U 999 U HFR & BRIT SHD SIS & aRER 8] 9T B, dr
3=+ PV 19 BT ? 1

At atime, the shadow of a tower 1s equal to height of tower. Find the angle of

elevation 7
(viii) &7 7T AR H BT g &I AF HIT BIY 2 1
C
10m
6 [
A 1 O\E m B
Find the value of angle g in given tigure 7
C
10m
6 [
A 1 O\E m B




(ix) IfE UH 95 PH O Fw dred Al ged WR PA, PB ¥ X@U WRER
80" @ WPIVT U bl BT Al LAQB BT A1 M B 7 1
Iftangent PA and PB trom a point P to a circle with centre O are inclined

to each other at the angle of 80”. Then find ~AOB .

(x) 19 T TTHIT U NERAVS WY 3R §9 2 1 & Ui A fawira
BT ? BFT |RT @l A9 fordr | 1

Draw a line segment of a length 9 ¢m and divide into the ratio 2 : 1 mesure the

two parts.

(xi) 6 THI T alel Uh I @ U HIURAUS Bl &A% SR DIy,
fSTaa®T BI0T 60° B 2 1

Find the area of a sector of a circle with redius 6 em, if angle of'the sector is
60",

(xii) TH IRT H 3 ell, 2 UHE 3R 4 o 7g 8| 39 R H U TP %
AT [hTell IR & T SHl 9T WIedr & 6 Faprell 18 A el
N 1

A box contains 3 blue, 2 white and 4 red ball. If a box is draw at random from
box, what is the probability that will be blue ball ?

Yrs—q
SECTION-B

ST TERIT 616 AR 32 &1 AW AHIYGd® (HCF) S SHIfoTg |
Find the HCF of two numbers 616 and 32.

U [gORT 9808 SR DIy, [5THS TIF 4 TAqT 1 8 7 2
Find a guadratic polynomial, whose zeroes 4 and 1 ?

feema TR gx2 _x_2—0 B G AT BT ? 2
Find a roots of guadratic equation gx> —x —2=07

faegail (1, —8) AR (—4, 5) BT SIS Il WERETS Bl 30T b 3T
Y g &ear & @ B ? 2

[\




10.

11.

12.

13.

14,

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2

I F 60 m T SR W TE T 3F W F | T4 G o0l SRR TRt T Y
ftt < e farg & o feam 0 % 1 yfn % Wy SR 1 R 60° 2 | 8 AR
& S H ®E T 78l €, SRt A qa H I 2
Akite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 T TS BT Uh VTS Widdy IR 2 : 3 § e (IR
BT ? 2

Draw aline segment oflength 6.7 cm and divide it into 2 : 3 internally 7

5 W 2501 & Uh gl U Ul <7 Wl v @i, S WRER & 60"
P R gDl B | 2
Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each
other at angle of 60

gfe a1 el & arwd SER 81 O g $IfoTe fd o Bgst waimam
Bl 8 7 2

If that area of two similar triangles are equal, prove that they are congrunt.
TS "ol & e @ g3 Rorad e 14 991 21 39 g8 @ gRT 5 e
H IR eTmd ST BTy ? 2
The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes ?

BT 4.2 991 910l G & U Tl B UEAR BT 6 I dTel Ud
I & U H AT ST B | 99 Bl SHaAs S HIg ? 2

A metalic sphere of radius 4.2 cm is melted and recast into the shape of'a

cylinder of radius 6 cm, Find the height of the cylinder ?
TR 5.5cmx10cm x3.5¢m aTa] b &9 9 & folU 1.75 ST &9
2 UHUA AICTE dldl fdhdw dAiel & ekl & g™ us T ? 2

How many silver coins 1.75 cmis diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5 Scmx10cmx3.5¢cm ?




15.

16.

17.

18.

19.

20.

11 IRWRAT ¢4 T 9-I S1d Iy ?
x 20 30 40 50 60 70 | a0

t 6 11 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

t 6 11 7 4 4 2 1

e AsiRBefMu i@ T ued 2l as gd e o Ao 89
Sl &l WIfddr 038 81 B & 89 oildy &1 &1 Uifddbar 8 7 2

Two Players A and B play a tennis match. It 1s known that the probability of a

winning the maths 1s 0.38. What is the probability of B winning the match ?

ls—

SECTION- C
AP 17,1513, o fepa 5 foiu ST «1fes ST 977 81 817 3
How many termsot'the AP. 0 17,15, 13,.............. must be taken, so that their
sumis 817
g BIfY & fog (2, —2) , (—2, 1) @1 (5, 2) U WHHIV 7]l & o
2 3
Prove that the point (2, -2), (-2, 1) and (5, 2) are vertices of a right angled
triangle.
FFr=feriad aifiepd oficpe! @1 wicqd Ared [Afer gRT 7R 1 Piforg ?
f TM—=13 1318|1617 1719 | 19—21 |21—23|23—25
FIELSINGII 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 [13—15 | 16—17 [17—19 | 19—21 |21—23 [23—25
Frequency 7 6 9 13 20 5 4 3
Rig #IvT 5[5 90 & fodd e & RRT o= it 78 vt Y
AR B & 3




Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

Hue—g
SECTION- D
=1 IR AT W BT Merdd A gRT g1 S ?
2X+y=06; 2x-3y=12

3rerat
=1 IR AT W BT Merdd A gRT g1 S ?
X+3y=6, 2x—3y=12 4

Solve the following pair of linear equations by graphical method
2X+y=06; 2x-3y=12

Or
Solve the following pair of linear equations by graphical method

X+3y=6, 2x—3y=12

fog @iy fo
s
+S?nA =secA+tan A
l-sinA
H2ET
Rig wifoe s
c;o%A +l+smA:2secA .
l+sin A cos A
Prove that
I+ s
+S¥HA =sec A +tan A
l-sin A
Or
Provethat
Cos A +1+smA —sec A

l+sin A  cosA

10




frfafian wreft feelt sremae 7w fagw o | 9t gu afial st o =
£ %_

e (It H) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

it = G 6 11 21 23 14 5
T RG] & AGAF ST FEA FIT HIAC 4
AT
Frfafea s 57 Tl Aiged & 68 ST @i oo =
IR @A T & | 57 SRS ] o ATe S s Fd S |
ufees @ud (3IEd H) SYNTERST Bl HE&A
65— 85 4
85 - 103 5
105 - 125 13
125 -145 20
145 - 165 14
165 - 185 3
185 —205 4
The following table shows the ages of the patients admitted in a hospital during a
year
Age (in years) 5-15 15-25 | 25-35 | 35-45 | 45-55 |55-65
No. ot Patients 6 11 21 23 14 5
Find the mode and the mean of the data given above.

Or
The tollowing frequency distribution gives the monthly consumption of electricity

ot 68 consumers of a locality. Find the median, and mode ofthe data.

Monthly Consumption Number of
(inunits) Consumers

65 — 85 4

85105 5

105 - 125 13

125 - 145 20

145 -165 14

165 — 185 8

185 —205 4

11




Y- B JIST

HEl — 10
o —wvead
3R — 3 "oe 15 e quries — 80
1, Igaed B PR —
P, gAY IR gicrerd
1. | FM 17 21.25%
2 S EEI) 14 17.50%
3. | ettt 35 43.75%
4 HifTddT 14 17.50%
EIRl 80 100%
2, Ul & YhRAR AFIR —
. FERIGIRSCARNE WEHT | URTIE | petier % PESIGH RS IS
i T 3T EIGNIEE HY;
1. aﬂﬁﬂ_ng'[; 18 1 223 36% 20
2. | HTATRIHBIET: 12 [ 15 24% 25
3. | AR P—YeATL 13 2 325 26% 33
4. | ETECRII—YE T 4 3 13 08% 55
5. | FEeTeHE—gET: 3 4 15 06% 60
EILIE 50 11 - 100% 195
3. faNa g% o1 AFAR —
&, [EAREERS! AFPIN | Ufcrerd
1| UGB TR (SR M U AT 4 5
2 | UIGHYKIE UEIRR (=M U arare: 4 5
3 | UISUYRAEI AICAYRA <M 9ydiq Jrdre 4 5
4 | UIGHYRIEI UEIRR GaRIde TR a1 ¥ ATRieRd 2 2,50
5 | AEHOHRIN YARIIT — UhugH yoiued 4 6 750
6 | oFaU oiETH 2 2,50
7 | W 3 3.75
8 | U TEUSH &<l IR AR eETH 2 2,50
9 | USUHIIER YeERETH 1 1.25
10 | YIGUYEIPK] TATBEY olg-TY 2 250
11 [ 10 125
12 | SFIYYaR HTHIUH 25 31.25
13 | FHARTRGH SOaREH 26T H UG 95 oy 4 5
14 | RARIRG 9uiH 3@ Gharid aardeidTs 4 5
15 | STAEHRIA 4 5
16 | ARSI HATSTH 3RIET aTRI-MIvH 3 3.75




el —10 g —wwmd qulies  —80
. I8¢ TdlE /SU 3PS ElGl STEIET AT / Sifeafda ®ierer / wiferdar ART
4.
| | £ |pEs ¢ zEZ & £ |g g |E|s B2 ¢
1 | YTGAYRIDI TATTRT < THIYIT AHEIH Sare: 4(1) 4(1)
2 | UTGAYREIHIA TRy e~ IAI9gT HOHiH 3ars: 4(1) 4(1)
3 | TGP AT (F=EHTST HIEATH 4(1) 4(1)
1 :
4 | UTGAYRTIRT YLTIRY dderd a1 H¥hd 2(1) 2(1)
AT AT
5 | WRHTHAEINA USRI — Usded guided d 2(4) | 4(4) 6(8)
6 | 3= dAETH 2(1) 2(1)
7 | w mioe 3(3) 3(3)
g | Vhw TRIUGRI [B=MNRT ARel@q 2(1) 2(1)
9 | UTGYURNTTIEN Ye12iaaHq (2) (2)
10 | UIGAYEIBIT TATBE Y o 2(1) 2(1)
11 | TafSaTdsETH A8y | 44 | 2D 10(13)
12 | AU FT— TR 10{10) 15(15) 23(25)
13 | AHATTNGH SMUATREGH AT 3 9=RE U= 4(1) 4(1)
EECEE|
14 | TRIATETRE 9UI=9 ferdl HahdrEIiRGg T el &4 4(1) 4(1)
15 | 3rqaTe FRNM H1) 4(1)
16 | TCATHARY FATSTTH 3fefaT araa =07 3(1) 3(1)
3(6) | 14(14) 2(1) 126) | 48) | 2222) | 63) | 3(1) 2(1) 12(3)
AT 17(20) 14(4) 35(34) 14(4) 30(62)

fapeul D TIHT — UH. 1,2,3.4,5,22,2325 H Uh ARG fdbey ©

Alc— Bod H g8 Pl T Dl DI a2 Hiar Y1 I TP T
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Aisel U3 UA
ooy — v
BET — 10
Tug—3

|Ag— 3 "v¢ 15 fe quife —80
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